THSEIAERASD REKER

BRE BEEHBHEASHEETHRERE
B & 4% % & E B BmE R
FLooPa—x g M KIZE 0157 = %
V) —L(KEMH) fAE Mt XEBE 0157 = 1%
SIEKE fREHMmMEXREZE 0157 =
ATAVIF—R rEHMmEXEBE 0157 b= %
Y—R(DFA1K) g I KIZE 0157 = %
Y—R(IMNR) I RE— fE M REEE 0157 = %
YINF—X g I KIZE 0157 = %
FaaFvI (BR fE M REEE 0157 = %
FaaL—roU—L g I KIZE 0157 = %
DEZAIZRL(HYE) e MM REZE 0157 = %
FREFF v T (OFR1R) frEHmEXBE 0157 = 14
F4Fa3 BERMMEXREE 0157 %
NE—(H1R) fAEHmEXBE 0157 = &
NILAYF—X (B fREHMmEXEBE 0157 = %
Wadhbh fAEHmEXBE 0157 = &
VEHLN(FLVTY7)-) frEHMmEXEBE 0157 = %
WaHoh (B EXK) fAE Mt XBE 0157 = &
SYUMT (B HY) g M KIZE 0157 = %
AU (EFHESI) fAE Mt XBE 0157 = %
SUDF(@DYAIDE) g M KIZE 0157 = %
SYMT (EDTE) fAE Mt XBE 0157 [E 3
TI—ARY—Dv Ls(15g) E7 T4 fREHMmEXEBE 0157 = %
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BRE BEEHBHEASHEETHRERE
B & 4% % & E B BmE R
TAR—XBRLYI T (DFAT1R) g M KIZE 0157 = %
2IAR—XEAFLYI T GREM) fAE Mt XEBE 0157 = 1%
HIAT Y L fREHMmMEXREZE 0157 =
A—=TNiavF(12g) EHMmEXEBE 0157 bE
3—% )Lk (100ml) g KIZE 0157 = %
3—4 )Lk (a73a7) 80g fE MM REZE 0157 = %
I—J L (@a7aT7TSR) 80g fREH M4 XEBE 0157 (S
I—F LR (TIL—Y) VBT 80g frEHmiEXBE 0157 =
3—7 )L (FREA) 500¢ g I KIZE 0157 = %
—OAXX fE M REEE 0157 = %
1B Z5L (500g) fAEHmEXBE 0157 = &
#HEDY frEHMmEXEBE 0157 = %
BikEF—X (15g) fAEHmEXBE 0157 = &
BRDHE(8) (BiRE fAE Mt XBE 0157 b= 1%
ZAYAIZL fAEHmEXBE 0157 = &
RIAITRL(YR) frEHMmEXEBE 0157 = %
AT (#K)60g fAE Mt XBE 0157 = %
ATFL G fREHMmMEXREZEE 0157 = 1%
NADMAE( 72) (BIR fAE Mt XBE 0157 = %
BEMFEIXS fREHMmMEXREZEE 0157 = 1%
BEH<H fAE Mt XBE 0157 [E 3
s <h (EwEY) Cak) fREHMmMEXREZEE 0157 =
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BRE BEEHBHEASHEETHRERE
B & 4% % & BH H BmERKE
KHZ (ER fREHMmMEXREZE 0157 =
RAHZT ) (BR BEHMERBEE 0157 (=3
BREENVIOYL(JIILDI) g MM KIZE 0157 = %
BEHEEVNVSIOYL(ETT4I) fAE Mt XEBE 0157 = %
HLAYTZX2—K (530g) fREHmMMEXEBE 0157 (e
BEAZ(ER frEHMmEXEBE 0157 = %
ZEL fREHMmMEXEZEE 0157 = 1
BHAZ (BiR frEHMmEXEBE 0157 = %
MERF—X g I KIZE 0157 = %
EX frEHMEXBE 0157 = %
BX fAEHmEXBE 0157 = &
BRAFDY frEHMmEXEBE 0157 = %
TR (MSE A ) 20g fAEHmEXBE 0157 = &
ABE)—9UEALYT60g(HIR fAE Mt XBE 0157 b= 1%
AEIIN—IYE)—(RES)70g frEtmEXEBE 0157 b= %
ABIIL—YE)—(EEHMA)T0g g M KIZE 0157 e %
AEIIL—YE)—(EEHLL)70g fAE Mt XBE 0157 = &
ABIIL—YE)—(EEYAI)70g g M KIZE 0157 = %
AEIAVF—(HLUE) fAE Mt XBE 0157 = %
AMRVAF—(AYh) g M KIZE 0157 = %
AEITHIT fAE Mt XBE 0157 [E 3
AEITHIT (Fvh) g MM KIZE 0157 = %
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BRE BEEHBHEASHEETHRERE
B & 4% % & BH H BmE R
MREIEA g M KIZE 0157 = %
AEALLY (TL—) BEHMERBEE 0157 (=3
mRyI—Y g MM KIZE 0157 = %
AREE (HIE)A(40g) rEHMmEXEBE 0157 b= %
ARSI (HIE) A(50g) fREHMmMEXEZEE 0157 b=
ARSI (HE-AY) frEHMmEXEBE 0157 = %
MEShL(AY) fREHMmMEXEZEE 0157 b=
mRSHL (H1g) (30g) frEHMmEXEBE 0157 = %
MESDHL (HIR) (40g) fREHmMEXBZEE 0157 b=
mRSHL (H1g) (50g) frEHMEXBE 0157 = %
AELLeE (20g) fAEHmEXBE 0157 = &
AECPHANBLEIL frEHMmEXEBE 0157 = %
MBEVT—NAFZ=FY fAEHmEXBE 0157 = &
MEOBEE fAE Mt XBE 0157 b= 1%
AEFEITOE (30g) fAEHmEXBE 0157 = &
WMEF XNV (30g) g M KIZE 0157 fE %
MREFEUNY(50g) fAE Mt XBE 0157 = &
MRFEUFTVM(18g) g M KIZE 0157 = %
AEFFU N IN—4 (50g) fAE Mt XBE 0157 = %
BEFEUNIN— (60g) g M KIZE 0157 = %
MEFER—IL(SS) frEtm4tXEBE 0157 b= 1%
ARFIXUR—IL g MM KIZE 0157 = %
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BRE BEEHBHEASHEETHRERE
B & 4% % & BH H BmERKE
ARESIBAILEZL fREHMmMEXREZE 0157 b= 1
BEEAMD(EL30g) fPE LM REEE 0157 b= %
BEEAMD(ELA0g) g MM KIZE 0157 = %
BEEAMD(EL50g) fFE LMt REZE 0157 b= %
ARICACLAERZL fREHMmMEXEZEE 0157 b=
WEITUITIU (#fT) 30g frEHMmEXEBE 0157 = %
BEIZUUTIL(AYE) Tem g I KIZE 0157 = %
AEA—OY (hyh) frEHMmEXEBE 0157 = %
AERILRINL (Bvh) g I KIZE 0157 = %
MRIZ )4 — frEHMEXBE 0157 = %
MELCERE fAEHmEXBE 0157 = &
AR frEHMmEXEBE 0157 = %
MEFRA fAEHmEXBE 0157 = &
MREDMD fREHMmEXEBE 0157 = %
MABNSBIT fAEHmEXBE 0157 = &
AEEA(EDE-10ghvh) frEHMmEXEBE 0157 = %
BREAR(KDE-5ghvh) fAE Mt XBE 0157 = &
ARBA(EDE-8ghvh) fREHMmMEXREZEE 0157 = 1%
MEBA(RDE-1EH-15gHvh) frEtm4EXEBE 0157 = 1%
MRBARDOE-HH-5ghvh) g M KIZE 0157 = %
MEBA(KDE-LH-8ghvh) fAE Mt XBE 0157 [E 3
MRBA(REL-3L-18R) g MM KIZE 0157 = %
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BRE BEEHBHEASHEETHRERE
B & 4% % & BH H BmE R
AEINTF (BE-Hvb) fREHMmMEXREZE 0157 =
ARESIT(R2) EHMmEXEBE 0157 b= %
AEEBITEDBESHT fREHMmMEXREZE 0157 b= 1
MRS (H18)A(30g) fAE Mt XEBE 0157 b= 1%
MR EE (H18) A(40g) fREHMmMEXEZEE 0157 b=
mREE(HIE-AY) fE M REEE 0157 = %
AEE (H1E-AY)(20m) fREHMmMEXEZEE 0157 b=
R BERK fE M REEE 0157 = %
AREE A(30g) g I KIZE 0157 = %
ARER A(40g) e MM REZE 0157 = %
MEREEAL fAEHmEXBE 0157 = &
AREF frEHMmEXEBE 0157 = %
MEREE fAEHmEXBE 0157 = &
MRERE fREHMmEXEBE 0157 = %
MEEE(XK) fAEHmEXBE 0157 = &
RIS (Fe) frEHMmEXEBE 0157 = %
AEBRA(ELATIY10g) fAE Mt XBE 0157 = &
AEBFA(B—X)2mm 3% 3 g M KIZE 0157 = %
AEBEALE BEHMERBEE 0157 b2 %
FEBFALE 2mm3 X 3cm g M KIZE 0157 = %
MEBKRLL (M1 X 3cm) fAE Mt XBE 0157 [E 3
ARBEALY (R fREHMmMEXREZEE 0157 b= %
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RE BEEFBEEERACHREHME

B R 4 & E A B E#E
AERAR—XES6mm 2x3 fREHMEXEBEE 0157 = %
AREBEAO—XEE3mm 1x3(52 ) fPE LM REEE 0157 b= %
MRBRERYLTF fREHMmEXEEE 0157 = %
MRBHRTFA (50g) rEHMmEXEBE 0157 b= %
MERSRAT)YE— fREHMmMEXEZEE 0157 b=




